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Class 11 Mathematics
FBISE Paper 2018 Local

Solved MCQs

1. What is the value of 𝑖13 ?

A. −𝑖 B. 𝑖 C. 1 D. – 1

2. How many inverse elements correspond to each element of group?

A. At least two B. Only one C. At least one D. Two

3. If A is any matrix of order 𝑚 × 𝑛 then minor of matrix of any one element has order:

A. 𝑚 × 𝑛 B. (𝑚 − 1) × 𝑛
C. 𝑚 × (𝑛 − 1) D. (𝑚 − 1) × (𝑛 − 1)

4. What is the value of (−1 + √3. i)4 + (−1 − √3. i)4 ?
A. 16 B. −16 C. 4 D. −4

5. The partial fraction of 1
1+x3, will be in the form of:

A.
𝐴

1−𝑥
+ 𝐵𝑥+𝐶

1+𝑥+𝑥2 B.
𝐴

1+𝑥
+ 𝐵𝑥+𝐶

1+𝑥2

C.
𝐴

𝑥+1
+ 𝐶+𝐵𝑥

𝑥2−𝑥+1
D.

𝐴
𝑥+1

+ 𝐵𝑥+𝐶
𝑥2+𝑥+1

6. What is the value of S19 if terms of A.P are 2 + 7
2

+ 5 + 13
2

… .. 19th

A.
129

2
B.

529
2

C.
829

2
D.

589
2

7. What is the value of n, 𝑖𝑓 𝑛𝐶8 = 𝑛 𝐶12?
A. 8 B. 12 C. 4 D. 20

8. What is the term independent of a in the expansion of ቀ𝒂
𝟐 − 𝟐

𝒂ቁ
𝟔
?

A.
15
4

B. −20 C.
−15

4
D. 20

9. What is the Arc length of an arc subtends an angle 60°20′ with radius 18mm?
A. 20.6 B. 20.5 C. 25.5 D. 26.5

10. What is the value of 𝑠𝑖𝑛9𝜃 ?
A. 4𝑐𝑜𝑠3𝜃 − 3𝑐𝑜𝑠3𝜃 B. 3𝑐𝑜𝑠33𝜃 − 4𝑐𝑜𝑠3𝜃
C. 3𝑠𝑖𝑛3𝜃 − 4𝑠𝑖𝑛33𝜃 D. 4𝑠𝑖𝑛3𝜃 − 3𝑠𝑖𝑛3𝜃
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11. What is the value of cos ቀ3π
2 + θቁ ?

A. 𝑐𝑜𝑠𝜃 B. 𝑠𝑖𝑛𝜃 C. −𝑠𝑖𝑛𝜃 D. −𝑐𝑜𝑠𝜃

12. In a triangle if a=17, b=10, c=21, then what is the value of R?

A.
85
8

B.
83
8

C.
81
8

D.
87
8

13. What is the value of
π
2

− sin−1 𝑥 ?

A. sin−1 𝑥 B. − sin−1 𝑥 C. cos−1 𝑥 D. −cos−1 𝑥

14. What is the representation of conjuction of two statements 𝑝 & 𝑞 ?
A. 𝑝 ∧ 𝑞 B. 𝑝 ∨ 𝑞 C. 𝑝 → 𝑞 D. 𝑝 ↔ 𝑞

15. If a sequence has condition an − an−1 = n + 1, a4 = 14 then 𝒂𝟓 has value:

A. 16 B. 20 C. 26 D. 24

16.
ඥ(S−b)(S−c)

ඥS(S−a)
=?

A. 𝑠𝑖𝑛 𝛼
2

B. 𝑡𝑎𝑛 𝛽
2

C 𝑡𝑎𝑛 𝛾
2

D. 𝑡𝑎𝑛 𝛼
2

17. What is the range of cot−1(𝑥) ?

A. – 1 < x < 1 B. 0 ≤ x ≤ π C. 0 < x < π D. − 𝜋
2

< 𝑥 < 𝜋
2

18. What is the multiplicative inverse of 1 − 2i ?

A
1−2𝑖

4
B.

1+2𝑖
5

C.
1+2𝑖

√5
D.

1−2𝑖
√5

19. The solution set of cosx − sinx = 0 in [0, π] is:

A.
5𝜋
4

B.
𝜋
3

C.
𝜋
4

D.
5𝜋
3

20. What is the rank of ൥
1 2 5
0 0 0
3 2 0

൩ ?

A. 3 B. 2 C. 1 D. 0


